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PRACTICAL ENGLISH TEST FOR COLLEGES (PRETCO)
(Level B)

Part I Listening Comprehension (15 minutes)

Directions: This part is to test your listening ability. It consists of 3 sections .

Section A
Directions: This section is to test your ability to give proper answers to questions. There are 5 recorded
questions in it. After each question, there is a pause. The questions will be spoken two times. When you
hear a question , you should decide on the correct answer from the 4 choices marked A), B), C) and D)
given in your test paper. Then you should mark the corresponding letter on the Answer Sheet with a single
line through the centre.
Example: You will hear: Mr. Smith is not in. Could you please give him a message?
You will read: A) I'm not sure.
B) You’re right .
C) Yes, certainly.
D) That’s interesting .
From the question we learn that the speaker is asking the listener to leave a message .
Therefore, C) Yes, certainly is the correct answer. You should mark C) on the Answer
Sheet . Now the test will begin .

1. A) Yes, she did. B) Next Monday.
C) By bus. D) Twice a week.
2. A) Yes, we are. B) No, there isn’t.
C) No, we don’t. D) Yes, there is.
3. A) Very excited. B) Yes, I did.
C) Fifty cents. V D) Next month.
4. A) Here you are. B) You may take it.
C) At8:15. D) Sixty yuan.
5. A) No, they aren’t. B) Yes, I'm going, too.
C) To a movie. D) After a while.
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Section B

Directions: This section is to test your ability to understand short dialogues. There are 5 recorded
dialogues in it . Afier each dialogue , there is a recorded question . Both the dialogues and questions will be
spoken two times. When you hear a question, you should decide on the correct answer from the 4 choices

marked A), B), C) and D) given in your test paper. Then you should mark the corresponding letter on
the Answer Sheet with a single line through the centre.

6. A) Husband and wife. B) Lawyer and client.
C) Doctor and patient. D) Teacher and student.
7. A) In Europe. B) In Canada. C) Here. D) In California.
8. A) Saying goodbye to a friend. B) Buying tickets for a sports event.
C) Paying a bill at a bank. D) Arranging a plane trip.
9. A) Two-fifty. B) Two-fifteen. C) Three-fifty. D) Three-fifteen.

10. A) He should ask Tom to phone the secretary.
B) He can’t use the secretary’s phone.
C) There’s not enough time to phone Tom.
D) The secretary will leave before the two people.

Section C
Directions: In this section you will hear a recorded short passage. The passage is printed in the test
paper , but with some words or phrases missing . The passage will be read three times . During the second
reading , you are required to put the missing words or phrases on the Answer Sheet in order of the numbered
blanks according to what you hear. The third reading is for you to check your writing . Now the passage
will begin .

Is there a dark side to the computer revolution? Do computers 11 our health or our society?
It certainly doesn’t seem that way on the surface. You don’t 12 your home computer to turn its
game gun on you. And how can machine be hanmful? The truth of the matter, however, is that any new
technology, computer 13 , has a dark side. Computer will change the way the nation works.
But the computer revolution will also bring problems 14 it. Many jobs, for example, will be

taken over by robots and computer-controlled machinery. Since many of these jobs are tiresome and even

15 , that seems like a step in the right direction. But it’s a big worry to the people whose jobs
are threatened.
Part I Vocabulary & Structure (15 minutes)

Directions: This part is to test your ability to use words and phrases correctly to construct meaningful and
grammatically correct sentences. It consists of 2 sections.

.« D .
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Section A

Directions: There are 10 incomplete statements here. You are required to complete each statement by
choosing the appropriate answer from the 4 choices marked A), B), C) and D). You should mark the
corresponding letter on the Answer Sheet with a single line through the centre .

16. I had to three forms to get my new passport.

A) fill in B) call in C) break in D) take in
17. He 10 a month to pay for his summer holiday.

A) put aside B) put away C) put up D) put out
18. The only car not yet repaired by that mechanic is .

A) my B) me C) him D) mine
19. Happiness is often a of honesty and hard work.

A) product B) goods C) article D) thing
20. A branch floating in the water Columbus’ hopes that land was near.

A) got rid of B) went back on C) gave rise to - D) caught his eye
21. He explained the problem to the students who .

A) have confused about it B) have been confused about it

C) had confused by it D) had been confused by it
22. He said current interest rates were a direct of domestic and international conditions.

A) situation B) effect C) position D) outcome
23. That picture is unclear because the camera was out of .

A) focus B) centre C) core D) order
24. The local government some areas to build parks or gardens.

A) puts away B) takes on C) sets aside D) holds up
25. She is quite well in health actually though she often looks . ’

A) otherwise B) despite " C) nevertheless D) likewise
Section B

Directions: There are 10 incomplete statements here. You should fill in each blank with the proper form of
the word given in the bracket. Write the word or words in the corresponding space on the Answer Sheet .

26. Tt took me a lot of time (look) up the new words in the dictionary.

27. 1If it rains tomorrow, I (not go) : to the park.

28. It is necessary for the two parties to achieve mutual (understand) .

29. He didn’t want to come to the movies because he. (see) i the film twice.

30. After spending two days (argue) about where to go for their holidays, they
decided not to go anywhere. :

31. If you have a million dollars or more, you are a (million)

32. Their products are praised as “strong in power, (rely) L in performance, fine in

031
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appearance and reasonably priced” .

33. He says that Europe should be seeking to lower taxes rather than (raise) them.

34. It is said that computers would crash because they would be (able) to make
sense of “00” for the year 2000.

35. This variety of Maotai is made from the Maotai that (store) since the Panama

World Fair in 1915.

Part IIl Reading Comprehension (40 minutes)

Directions: This part is to test your reading ability. There are 5 tasks for you to fulfill. You should read
the reading materials carefully and do the tasks as you are instructed .

Task 1
Directions: After reading the following passage, you will find 5 questions or unfinished statements,
numbered 36 through 40. For each question or statement there are 4 choices marked A), B), C) and
D). You should make the correct choice and mark the corresponding letter on the Answer Sheet with a single
line through the centre .

/

Strange thing happens to time when you travel. Because the earth is divided into twenty-four time
zones one hour apart, you can have days with more or fewer than twenty-four hours, and weeks with more
or fewer than seven days.

If you make a five-day trip across the Atlantic Ocean, your ship enters a different time zone. every
day. As you enter each zone, the time changes the hour. Travelling west, you set your clock back;
travelling east, you set it ahead. Each day of your trip has either twenty-five or twenty-three hours.

If you travel by ship across the Pacific you cross the international date line. By agreement, this is
the point where a new day begins. When you cross the line, you change your calendar the full day,
backward or forward. Travelling east, today becomes yesterday; travelling west, it is tomorrow!

36. The best title for this selection is . v
A) A Trip Across the Atlantic B) How Time Changes Around the World

C) Crossing the International Date Line D) How Time Zones Were Set Up
37. The difference in time between zones is .
A) seven days B) twenty-four hours
C) one hour D) more than seven days
38. From this selection it seems true that the Atlantic Ocean
A) is in one time zone B) is divided into twenty-four time zones
C) is divided into five time zones D) cannot be crossed in five days

39. The international date line is the name for
A) the beginning of any new time zone B) the point where time change by one hour

e 4 o
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C) the point where a new day begins D) any time zone in the Pacific Ocean
40. H you cross the ocean going east, you set your clock
A) ahead one hour in each new time zone B) ahead one time for the whole trip
C) back one full day for each one full day D) ahead by twenty-three hours
Task 2

Directions: This Task is the same as Task 1. The 5 questions or unfinished statements are numbered 41
through 45 .

September is the ninth month of the year. However, the word September comes from the Latin word
“septem”, which means “seven”. This is because long ago a different calendar was used in which
September was indeed the seventh month. When Julius Caesar, leader of Rome, changed the calendar,
he made September the ninth month.

September in the northem hemisphere is a time of change. With fall and winter approaching,
temperature usually begins to drop somewhat. It is also the productive time of the year since it is when
farmers harvest some of their vegetables and fruit, especially apples, which have finished their growing
season.

September has thirty days. In English, the word is often abbreviated (#E) to just the first four
letters. The major U.S. holiday in September is Labor Day. This holiday, which comes on the first
Monday of the month, is in honor of all people who work. September 7th is Brazil’s Independence Day
and Chile’s is the eighteenth. Also, Balboa discovered the Pacific Ocean on September 25, 1513.

41. From this passage you may infer (M) that before Julius Caesar, October might be the

A) ninth month of the year B) eighth month of the year
C) tenth month of the year D) eleventh month of the year
42. September is important because
A) it has a very interesting history B) there are many important holidays in it

C) temperature begins to fall in this month D) this is the harvest time for farmers
43. We may come to the conclusion that

A) U.S. labor day is not fixed on one date of the month

B) U.S. labor day is celebrated by all the workers

C) U.S. labor day is the most important holiday in the country

D) U.S. labor day is not on May the First
44. In English, September can be shortened to

A) Sptr B) Sptm C) Sept D) Sptb
45. The best title for this passage might be

A) An Important Month of the Year B) The Month of September

C) The History of September D) Some Holidays in September
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Task 3

Directions: There are two advertisements here. After reading them , you should complete the information
by filling in the blanks marked 46 through 50 in the table below with no more than 4 words .

Ad. 1

Reaching for the Stars

If you want to fly high, you ought to reduce the project risk before lift-off, or even better,
remove them.

For 100 years comprehensive technical and financial resources have made Allianz a proven
partner for business.

Chance has played no role in making us the leader in the demanding European Market.
Nowadays, Allianz insures major industrial and technical projects all over the world.

Allianz '

EUROPE’S LEADING INSURANCE COMPANY

Ad. 2

Thank you Singapore Airlines for buying the quietest cabin in the sky.

We’re sure your passengers will say the same.

This week, Singapore Airlines takes delivery of the first 2 of a fleet of 17 new Airbus Industrie
A340s.

In the first advertisement 46 are insured.

Allianz has 47 years of comprehensive technical and financial resources.

The success of the insurance company is brought about by hard work, not by 48 .

In the second advertisement, there are 49 of new planes for people to take this week.
Singapore Airlines bought a fleet of 50 .

Task 4 :
Directions: The following is a list of famous tour attractions. After reading it, you are required to find
the items equivalent to (5+++--%§[A]) those given in Chinese in the table below. Then you should put the
corresponding letters in the brackets on the Answer Sheet, numbered 51 through 55.

Great Wall

Imperial Palace

Marco Polo Bridge

Ruins of the Old Summer Palace

(RN RE--Nid
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The Summer Palace

Tiananmen Square

Reed Flute Cave

Museum of Terracotta Figurines
Arch of Triumph

Eiffel Tower

Leaning Tower of Pisa

Notre Dame de Paris
Sydney Opera House
Niagara Falls

Statue of Liberty
World Trade Centre

w|lo|Z2IB|IM|R|=|—|Z|Q|= | X

Example: (A) K (F) X&' %

51. () BiAnEE () HEERBE

52. () AlEHE () RDME

53. () EEXHE ( ) HARSFL
54. () DEHEIB ¢ ) gusEn

5. )BE () BEhHrE#f

Task 5

Directions: Read the following two letters. After reading them, you are required to complete the
statements that follow (No .56 through No.60). You should write your answers briefly on the Answer Sheet
correspondingly . .

(1)

Dear Sir,

We have just received information from our clients that one of the four cases of crockery €-%:))
shipped to Alexandria by s. s. Merchant Prince on 25th July, under bill of lading No. 951, could not be
traced when the ship arrived at Alexandria.

As these goods were supplied to an order of special urgency, this loss is most unfortunate and I shall
be glad if you will make immediate enquiries into the cause. Meanwhile, we give formal notice to reserve
our Tights to claim on you for the shortage should the missing case not be found. .

Yours faithfully,
()]
Dear Sirs,

We were sorry to leam from your letter of 26th August that one of your four cases consigned by s. s.

Merchant Prince had not been delivered. I am, however, happy to inform you that we received
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